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e m B | 50 m/min
ERHE A kef/cm 7.0kgf/cm
[ & # rp.m 1500rp.m
IREIRTEAL 5: 1
EaittHE 2/ min 57 2 /min
ESRE AN Mpa 0.2 Mpa
2REIRVTEALL 20 : 1
EEtHE 2 /min 272 /min
ZERE SN Mpa 0.76 Mpa
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1 12 b 6.0 6.5 7.0 75
v 2 - X - AR - FSX - X - X
k 8 A+ E—X Rk E—X RAb [e—=x RAb E—X RAb E—X
/km \ke/km| 4 4,690 5,080 5,471 5,863
15 5.025| , g 5.443| 4 a3 5.863| 5567 6.281] 4500
67 6 | 16 5,360 5,806 6,253 6,700
1.7 5,695 6,170 6,644 7,119
2/km (ke/km| 4 4 3,360 3,640 3.920 4,200
15 3.600| ; g5 3.900] , 504 4200| 5 45g 4500| , 413
48 37 1.6 3,840 4,160 4,480 4,800
1.7 4,080 4,420 4,760 5,100
2/km [kg/km 14
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1 7,448.0 1,144.0 6,304.0 12,608.0 |Z EhERFH 2%
2 7,560.0 1,143.0 6,417.0 12,834.0 | EFB 12,992.8
3 7,530.0 1,144.0 6,386.0 12,7720 | TR 12,4833
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E-y G1 G2 G1—G2
1 4.506.0 1,1450 3,361.0 6,722.0 |ZEFNEFE £5%
2 4,491.0 1,143.0 3,348.0 6,696.0 | LR 7,032.2
3 4,478.0 1,141.0 3,337.0 6,674.0 | FER 6,362.5
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RAk 12,7380 X605+ (672 % 1.6 X 1000) = 7.12 km/h
E—X 6,697.3 X605+ (56kg X 1000)= 7.17 km/h

AEREITRE 7.0km/h




B 5

NO 2 B

fL1E830 3 778

HEAZ FETKRBIZBETHHEHEDAIE

RAVPOHHEH

# &R R

E—XDHHEH BpIbIKRER — &
e 72 E—R RAUR
& |5z2r |[TRARE—R+[T4TE _ o N
R o +RAM+ TANE—X G1—G3 E—X
E—X ’\’(‘/FG) > N E B = oA > ™ E'Ztéjﬁg *ﬁj E
5 loE= |22 of EZ—XEE NEE G3 /G\zzr_/GI:O’H:—x G2—Gt
el 4775 4229 546| 546
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el 507.7 424.4 833| 833 28.7
f 2 507.4 4241 83.3 (A) —(B)
Y1 3 506.1 422.7 83.4/(A) C B’
SERATEE  70k/h  (BIERETRELETEE)
REATEEENEE (MHER)
TFTARE—R1HY (1F15cm X KEI50em)DIGE
RAk HEtE( 67/km) x ZE(1.6) 53.6 P
1,000m =0,50m X 1,000 :
E—X  __ 5&&t= (56keg/km) B
000 o x 1,000 280 g
RAVRHE—X P+B 816 & c
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1. FTRAE—R1#HY (g15cm X &&50cm) DIFGE

RAUk
EREtE( 670/km) X ZFE1.6 % 1,000 X NEATEZ580% X 0.5m = 42880 g (P)
1,000
E—X
%Et=E ( 56kg/km)X 0.5m = 28.000 g (B)
RAVM+HE—X(P)+(B) 70.880 g (C")
2. TRFE—R1HEHY BF15cm x £Z20cm)DIHFE
RAUk
EBEE ( 670/km) X BEE1.6X 1,000 X MNEAFES}80% X02m = 17.152 ¢ (P")
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E—X
it =( 56kg/km)X0.2m = 11200 ¢ (B”)

RAk +E—X P)+(B) = 28352 g (C”)
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